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Question 1 (10 marks) please start new page

a)

b)

d)

Show the equation x? + x = 3 has a root between x =1 and x = 2.

, . 4
Starting with x, =1 use Newton’s Method to show x, = 3

P, Q and R are three points on the circumference of a circle
such that chord PQ = chord PR. § is any point on the circle such

that P and S are on the opposite sides of OR as shown.

Prove ZPSQ = ZPSR
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Find the general solutions of the equation cos —sin 20=0

Question 2 (10 marks) please start new page

a)

If a3 and y are the roots of 2x3-5x-3=0, find the values
of a+ B+7y, aff+ Py+ay and affy. Hence find

i) o’ +pBE+y

ii) (@ =2)(B-2)(r-2)

Find all the angles where 0° <6 < 360° for which sin6—+/3cosf=1
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Question 3 (10 marks) please start new page

2

2

Consider the graph y = 1 ad

a) Write down the vertical asymptotes
b) Find any stationary points and determine their nature
c) Describe how the function behaves for both positive and negative

large values of x. Does the curve approach this value from above

or below ?
d) Sketch a graph of this curve showing all relevant features

Question 4 (10 marks) please start new page

a) The angle of elevation of the summit of a mountain due north is
14° and on walking 7000m due west is found to be 10°. Find the

height of the mountain to the nearest metre.

—>
b) " Find the quotient and the remainder when P(x)= x>+ 7x*-bx~-b
is divided by A(x)=x-1.If A(x) is a factor of P(x)find the value

of b.

c) Prove the identity cos40 =8cos* 8—8cos’0+1

End of Exam
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